Unit 1, Station 1, Round 1,

Task 3
ﬂh Four Digit plus Four Digit Addition Name: Answer Key
Solve each problem. Answers

) 5951+1,385= 7336 . 7.336
2) 4001+2485= 6486 N 6.486
3) 8,765+4809= 13.574 3. 13,574
4) 7888+2957=10.845 . 10,845
3) 6,081 +4,742= 10,823 5. 10,823
6) 3258+2,138= 5,396 " 5,396
7 6,962 +3,390= 10,352 . 10,352
8) 9309+1,890= 11,199 s 11,199
9) 5675+2.011= 7,686 o. 7,686
10) 8363 +5,626= 13.989 0. 13,989
1) 8429+7,709= 16,138 n 16,138
12) 6,606+ 6,452= 13,058 2. 13,058
13) 3346+2,152= 5,498 3. 5,498
14) 7,186 +4,106=_ 11292 e, 11,292
15 9,909 +7,182=_ 17,091 5. 17,091
16) 2,781+2340= 5,121 16. 5,121
17) 5182+4,177= 9,359 7 9,359
18) 6387 +1,548= 7935 8. 1,938
19) 3438+3300=_ 6,738 9. 6,738
200 2043+1,739= 3,782 0 3,782




Unit 1, Station 1, Round 1,

Task 3
ﬂh 4 Digit Minus 4 Digit Name: _Answer Key
Use subtraction to solve the following problems. ANswers

" 6.677
) 8672 ) 3,675 3 7,153 9 1,215
- 1,995 -1.960 -5,306 -1,211 2. 1.715
6.677 1.715 1.847 4
N 1.847
4 4
6,739
5) 9,349 6) 9,437 N 7,327 8 7,300 > >
-2.610 -9.283 -2.877 -5.953 . 154
6.739 154 4.450 1.347
- 4,450
. 1.347
9  6.966 10) 4,693 1) 3,921 12) §.080 o. _ 3,210
-3.756 -4.608 - 1,670 -5,190
- - - e — _— 10. 85
3.210 85 2.251 2.890
n 2,251
o 2.890
13) 70,001 14) 40,002 15 90,009 16) 90,009 3. 59,462
-10,539 -24.150 - 6,149 -25.981 15,852
59.462 15.852 83,860 64.028 1. =l
1. 83,860
6. 64,028
17 10,007 18 90,006 19 90,006 20 90,002 7 3.897
- 6,110 -24.941 -13,233 -37.555
3.897 65.065 76.773 52.447 18. 65,065
o, 76,773

52,447




